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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1)
(ii)
(iii)
(iv)

(v)
(vi)
(vii)
(viti)
(ix)

67/4/2

This question paper contains 34 questions. All questions are compulsory.
This question paper is divided into two parts — Part A and Part B.
Part A is compulsory for all candidates.

Part B has two options i.e. (1) Analysis of Financial Statements, and
(2) Computerised Accounting. Candidates must attempt only one of the given
options as per the subject opted in Part B.

Questions no. 1 to 16 and 27 to 30 carry 1 mark each.
Questions no. 17 to 20, 31 and 32 carry 3 marks each.
Questions no. 21, 22 and 33 carry 4 marks each.
Questions no. 23 to 26 and 34 carry 6 marks each.

There is no overall choice. However, an internal choice has been provided in
7 questions of one mark, 2 questions of three marks, 1 question of four marks
and 2 questions of six marks.

PART A
(Accounting for Partnership Firms and Companies)
Assertion (A) : Increase in the value of liabilities on reconstitution of a
firm is debited to Revaluation Account.

Reason (R): Increase in the value of liabilities is a loss.

Select the correct alternative from the following : 1
(a)  Assertion (A) is correct, but Reason (R) is wrong.
(b)  Assertion (A) is wrong, but Reason (R) is correct.

(¢) Both Assertion (A) and Reason (R) are correct and Reason (R) is
the correct explanation of Assertion (A).

(d)  Both Assertion (A) and Reason (R) are wrong.
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fop IS M S 10% a1fue X & feam Smom | 9rEER 74 TR & 9d7 o gher
B
*IE T 5,000 Ui ATE qAT FHEO T 3,000 Tt femTE |
31 9T=, 2022 ! HHTH §T 9N H HH 1 AW T 6,72,000 T |

2. HEEN 9 @Al % 99 9§ § G W S a°1 9aq W fIw @ @l
I et T of
(a) %@ T 1,20,000, FM T 1,00,000 R FH T 80,000
(b) ¥ T 1,80,000, F®M T 1,12,000 3R T T 80,000
(c) %@ T 60,000, FM T 12,000 IR TR T I
(d H¥E T 3,30,000, F0 T 2,12,000 AR G T 1,30,000

3.  HIEGRI % =] WAl § gEaraid shl S areil @y i Ui of .
(a) A T 1,00,000, F T 1,50,000 AT TH T 50,000
(b) I T 50,000, FT T 1,50,000 T T T 1,00,000
() ¥ T 1,50,000,FM T 1,00,000 T G T 50,000
(d) WA T 1,51,500, FOT T 1,01,000 I T T 50,500

4. () oUW fafiRe 9 = 100 I=@F F 2,00,000, 7% FOGHAT Bl 5% T W
frifia foeen, fSem em 5% Mfem W e 8 | o=l & T ®
g qA Med W Nifrm w1 o Seome e w1le @El’ & wesw 9
o T | ROE o R W Sroy Tt gifd @’ | @aHdt 6
TrlTQ"ﬁ:
(a) ¥ 10,00,000 & SHT U&7
(b) ¥ 10,00,000 ¥ =19 9& ¥
(¢) T 20,00,000F 9 9&T T
(d ¥ 20,00,000 § 54T 9&T H

AAAT
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Read the following hypothetical situation and answer questions number

2 and 3 on the basis of the given information :

Keshav, Krishna and Murari were in partnership sharing profits and
losses in the ratio of 3 : 2 : 1. Their fixed capitals were : ¥ 12,00,000,
< 10,00,000 and ¥ 8,00,000 respectively. It was agreed that interest on
capital will be allowed at 10% per annum. Partners were entitled to
salaries as follows :

Keshav ¥ 5,000 per month and Krishna ¥ 3,000 per quarter.

Profit of the firm for the year ended 315t March, 2022 was ¥ 6,72,000.

2. Amount credited to the Partners’ Current Accounts on account of ‘interest
on capital’ and ‘salary’ was : 1

(a) Keshav ¥ 1,20,000, Krishna ¥ 1,00,000 and Murari ¥ 80,000
(b) Keshav T 1,80,000, Krishna ¥ 1,12,000 and Murari ¥ 80,000
(c) Keshav ¥ 60,000, Krishna ¥ 12,000 and Murari ¥ Nil

(d) Keshav T 3,30,000, Krishna ¥ 2,12,000 and Murari 1,30,000

3. Amount of profit transferred to Partners’ Current Accounts was : 1
(a) Keshav ¥ 1,00,000, Krishna ¥ 1,50,000 and Murari ¥ 50,000
(b) Keshav T 50,000, Krishna ¥ 1,50,000 and Murari ¥ 1,00,000
(c) Keshav ¥ 1,50,000, Krishna ¥ 1,00,000 and Murari ¥ 50,000
(d) Keshav T 1,51,500, Krishna ¥ 1,01,000 and Murari ¥ 50,500

4. (1) Anuradha Ltd. issued 2,00,000, 7% debentures of ¥ 100 each at a
discount of 5% redeemable at a premium of 5%. Discount on issue
and premium on redemption were accounted for through ‘Loss on
Issue of Debentures Account.’ On issue of debentures, ‘Loss on
Issue of Debentures Account’ will be : 1

(a)  Credited by ¥ 10,00,000
()  Debited by T 10,00,000
(c) Debited by ¥ 20,00,000
(d)  Credited by ¥ 20,00,000

OR
67/4/2 ~~~ Page 5 P.T.O.
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(i1)

e fafies 3 T 100 IF & 4,000, 9% TR HI 10% T R Fifa
fora fSmemt e ifiem W fomam ST o | SRt o T W owg 3Tt
SroraE o e Wi 1 @ Sweods i g1 w@ra o wiess 9
foram | 9fe o T B @ # T 60,000 9, A1 RO
e ) Sifiem b1 afst oft

(a) T 60,000 (b) ¥ 40,000

(¢) ¥ 20,000 (d T 80,000

fosa qon SR T WH o WIHEEN B | WEEll HoiE % LHR STE W
12% a1 e ¥ =T feam S | STTEer WS sl AT -8+ fafa=em @ |

gEdl-did % & fou Fefafga @ 9 938 @9 & 90 91 § @dHl 6
STart ?

(a)
(b)
(c)
(d)

1)

(i1)

greieii < =Te] @

TTER o Yeft @rd

HHIEA feifiide 9 T 10 Tedsh % 50,000 HHe S0 shl FHEed T it
F & fotu eaed smmba foew | wfa o9 ufyt &1 yam f= yoer &
EZI%IT:

JATEET W T 3; e W T 4 997 JIH TF Af<H I=AT W T 3 |
1,45,000 BT 311 o foTq 319G W g | 20,000 37T h A Pl
T Y o1 T qUT WY SATAgeRl i AT U T 3T Bl AT
foram T | 3TEeT W e Ifafich Uiy 1 SHRISE 3TEdd dAT Y Ud

A I W T U § R o T | 31fm A= @i o ST uet |
<1 T @l <kt iy of -

(a) T 2,25,000 (b) T 25,000
(¢ ¥ 1,75,000 @ =
arera

?ﬂﬁmﬁq\sﬁasﬁrwﬁlw fgd ® @ HH-A1 A & 7§ ?

(a) 39 gt 1 a8 iy B 9 ween & st % gER
Wﬁﬁﬂh‘—f%%@aﬁ%%l

(b) Ig AURd Ul & 98 W g 8 AMEH o [T SHaT i
qredfaes €9 ¥ fifia fobam g |

(c) gsﬁf&lﬂﬁwa%ﬂm%ﬁlﬁwmﬁqlmqﬁaﬁqﬁm
|
(d) Ig Ffaa (AT ) ISl 1 98 W & 8 SmIYieR § ardiae
9 9 uTH foRan T R |
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(i1) Diksha Ltd. issued 4,000, 9% Debentures of ¥ 100 each at a
discount of 10%, redeemable at a premium. ‘Discount on Issue of
Debentures’ and ‘Premium on Redemption of Debentures’ were
accounted for through ‘Loss on Issue of Debentures Account’. If the
amount of ‘Loss on Issue of Debentures Account’ was ¥ 60,000,

then the amount of premium on redemption was : 1
(a) ¥ 60,000 (b) T 40,000
(c) < 20,000 (d) < 80,000

Vijay and Ajay are partners in a firm. The partnership agreement
provides for interest on drawings @ 12% per annum. Which of the
following account will be debited to transfer interest on drawings to
Profit and Loss Appropriation A/c ? 1

(a) Interest on Drawings Account
(b)  Bank Account

(c) Partners’ Current Account

(d) Partners’ Capital Account

i) Manmohan Ltd. invited applications for issuing 50,000 equity
shares of ¥ 10 each at par. The amount payable per share was as
follows :

On application ¥ 3; on allotment ¥ 4 and on first and final
call ¥ 3.

Applications were received for 1,45,000 equity shares. Applications
for 20,000 equity shares were rejected and remaining applicants
were allotted shares on a pro-rata basis. Excess application money
received with application was adjusted towards sums due on
allotment and first and final call. Amount credited to

calls-in-advance account was : 1
(a) T 2,25,000 (b) < 25,000
(c) < 1,75,000 (d  Nil
OR
(i1)  Which of the following statement is correct regarding subscribed
capital ? 1

(a) It is the amount of share capital which a company is
authorised to issue by its Memorandum of Association.

(b) It is that part of authorised capital which is actually issued
to the public for subscription.

(c) It is that part of the issued capital which has been actually
subscribed by the public.

(d) It is that part of the called-up capital which has been
actually received from shareholders.

~~~~ Page 7 P.T.O.
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srT=rd (Wit 81 Tg) o7 YSft W1 98 I Sreh! AT shdel Ul < foeed
I & <hl S Tehd] 8, hadld! @ :

(a) Trifia 9h
(b)  gd St

(c) @f=a gait
(d) oifrifaa gh

T B o foered W feufa foawor 9 uifen mn w=) T 2,00,000 o7 | SR
HT 50% Teh FTEGER 4 T 65,000 H o ToTdm a2 29 50% ol I&dsh oo 9 20%
A T &= TRT | Sk @Td o A9 9 § Gl skl 78 TisT of

(a) ¥ 1,45,000
(b) T 80,000
(¢ T 65,000
d T 1,85,000

g e 3 T 10 I3 & 5,000 gHAT 3719, = T 5 fd 191 & Mfem w
frifira forem o o, = 4 gfd 3191 Y Yo wa <ifem ATRAT T PTAE T HH W
BT R TR | 201 W “oTS g0 Wi’ o 9T U H @l Shi T8 v g

(a) ¥ 20,000

(b) ¥ 30,000
(c) < 50,000
(d ¥ 55,000

YT, G qAT T I BH o e | R af Il =9 981 & o g
Tead gafl feh [T 38 T 14,500 1 YaH foRam T | s¥ell o amediorh
=1 T 11,000 ST YTAE R gRT Toham T |

T & St Wrd & ST geT W @l <l S et iy g

(a) ¥ 11,000
(b) T 3,500

(¢ T 14,500
d T 25,500
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7. Part of the uncalled share capital that can be called up only at the time of
winding up of the company is called : 1

(a)  Issued capital
(b)  Paid-up capital
(c) Reserve capital

(d)  Un-issued capital

8. On dissolution of a partnership firm, furniture appearing in the Balance
Sheet was ¥ 2,00,000. 50% of the furniture was taken over by a partner
at ¥ 65,000 and balance 50% was sold at 20% less than the book value.

The amount debited to bank account was : 1
(a) ¥ 1,45,000

(b) < 80,000

(c) T 65,000

(d ¥ 1,85,000

9. Chavi Ltd. forfeited 5,000 equity shares of ¥ 10 each issued at a
premium of T 5 per share for non-payment of first and final call of T 4

per share. On forfeiture, ‘Share Forfeiture Account’ will be credited by : 1
(a) < 20,000
(b) < 30,000
(c) < 50,000
(d) < 55,000

10. On dissolution of the firm of Ramesh, Suresh and Naresh, Naresh had
agreed to bear all realisation expenses for which he was paid ¥ 14,500.

Actual expenses on realisation amounted to ¥ 11,000 which were paid by

Naresh. The amount to be credited to Naresh’s capital account will be : 1
(a) < 11,000

(b) ¥ 3,500

(c) T 14,500

(d ¥ 25,500

67/4/2 ~~~ Page 9 P.T.O.



11. gorar fafis 9 T 100 I% & 5,000, 7% FO9AT &1 A 10% Hftrem w
foram | frtaa &t raf o6 STIER UM T 40% AT W qAT AT A& W
of | frfm qui &9 @ rftrea &1 qen qui TfSt wrw &1 E | sTeE qun e

9 ITH Ui s off

(a)
(b)
(c)
(d)

12. @)
(i1)

13. (D

67/4/2

T 2,50,000 91 T 3,00,000
T 2,00,000 91 T 3,00,000
T 2,00,000 TT T 3,50,000
T 2,00,000 qT T 2,50,000

379, A AT | Th BH H HEGR & T 5: 3 : 2 o A § ATl 1
fouTeH ot 9 | 1 SHaRT, 2022 @t " 1 e 81 T | 31g a9,
HIF o | o1 ALUR 4 IUTd § i

(a) 1:1 (b)

(c) 5:3 (d)

AT

fafea, gia qen Hiar weh wd H AEER & 97 4 : 3 : 19 3T § AT
1 faare td 9 | iar 1 Fem | e 9o e awn wn fafga 9 o
foren | fafea qen giwa =1 7o Sr9-fawTem srgama g

(a) 1:1 (b) 5:3
(c) 3:5 (d) 5:2

A, Th |EGR 4 1 FaE, 2020 H T 1,20,000 T KT BH I
o | areie go@ it euieafd § 31 9, 2021 W RO W T AW
<1 TS gl

(a) ¥ 3,600 (b) ¥ 7,200
(c) T 12,000 (d ¥ 6,000
YT
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11. Sujata Ltd. issued 5,000, 7% Debentures of ¥ 100 each at a premium of
10%. According to the terms of issue, 40% of the amount was payable on

application and the balance on allotment. The issue was fully subscribed

and all amounts were duly received. The amounts received on application

and allotment respectively were :

(a)
(b)

(c)
d)

12. (1)
(ii)

13. (@)

67/4/2

¥ 2,50,000 and ¥ 3,00,000
¥ 2,00,000 and ¥ 3,00,000

¥ 2,00,000 and ¥ 3,50,000
¥ 2,00,000 and ¥ 2,50,000

Anu, Monu and Sonu were partners in a firm sharing profits in the
ratio of 5 : 3 : 2. Monu died on 15t January, 2022. Anu and Sonu

will acquire Monu’s share in the ratio of :
(@) 1:1 (b) 3:2
(¢ 5:3 d 5:2

OR

Vidit, Sumit and Mita were partners in a firm sharing profits in
the ratio of 4 : 3 : 1. Mita died and her entire share was taken up
by Vidit. The new profit sharing ratio of Vidit and Sumit will be :
(a 1:1 (b) 5:3

() 3:5 d 5:2

On 18t October 2020, Amit, a partner, advanced a loan of
T 1,20,000 to the firm. In the absence of partnership deed, the

amount of interest on loan to be paid on 315t March, 2021 will be :

(a) < 3,600 (b) ¥ 7,200
(c) < 12,000 (d ¥ 6,000
OR

1
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(i1)

(1)

(i1)

¥

foerg, 319 qAT T Ush BH o TTEICR & 9 a9+ 7 : 5 : 8
AT | Wied & | 28 3T, 2021 Wl T i Ucg &1 T8 | T i
TH BH o o T 3Gk WET 1 AT T 75,000 s T8 | FHAT
fafalRaa & 9 -8 @@ & 9 9 7 i e 2

(a) Y-8 399 Qrdl

(b)  ATH-EIH @ra

(¢) ATH-gTH farfem @

(d) ATH-BIH THREISH Gl

e qen gqoft v wH H AEER o 91 3: 2 o STJUd H ATH-gIH died

9 | 13799, 2022 ¥ o AT I SO Fied % foIT ggad 3¢ | B

i T T Yo T 3,00,000 fopam w1 | FuRISE fefdfied 8 &

fepT SFeT g foham ST 2

(a) Goft & 9@ 9 ¥ T 30,000 qT =1 o @1 9@ H T 30,000 H
Tt |

(b) o s 9m uar d& T 30,000 aum goft & @1 v H T 30,000 Hi
Tt |

(¢) Hoft & 9@ 9g § T 3,000 a1 f&m & smn 9 & T 3,000 H
Tt |

(d) fTonm e amum ¥ T 3,000 an guft o 1 9 7 T 3,000 HI
Tt |

YA
T, A T Aifgd Toh BH § A9ER o A1 8:5: 3 < 31 H ATHI
1 fadTeM d 9 | 1 309, 2022 € 3aiH I8 Foi fomn T wiosy @ 9
AT T fI9TSH 5: 6 : 5 % 31U § Hal | fEfafied § @ am-foase
AT | qREc o hRUT HIEGRI oh SUTH J N hl T HIT

33

(a) TH9 1 ATy i,gwwwmi,nﬁ%ﬁwwl
16 16 16
(b) «m—iw«uu%,gﬂqwﬁw %,nﬁw%awaﬁw&q%

(¢)  TTHT Rl <M %,gﬂqwaﬁw&q %,ﬁ%ﬁm JAferenTH %

3 2 1
d A9 BT AN —, HdWcﬂl‘l—,ﬁll%ﬂ?ﬂﬂ'ﬂT—
@ 16 3 16 16
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(i1)

(1)

(i1)

Vijay, Ajay and Sanjay are partners in a firm sharing profits and
losses in the ratio of 7 : 5 : 8. Sanjay died on 28R August, 2021. His
share in the profits of the firm till the date of his death was
determined at ¥ 75,000. It will be debited to which of the following
accounts ?

(a)  Profit and Loss Suspense Account

(b)  Profit and Loss Account

(c) Profit and Loss Appropriation Account

(d)  Profit and Loss Adjustment Account

Ria and Surbhi were partners in a firm sharing profits and losses

in the ratio of 3 : 2. With effect from 15t April, 2022, they agreed to

share profits equally. The goodwill of the firm was valued at

T 3,00,000. The adjustment will be done by which of the following

transaction ?

(a)  Debiting Surbhi’s account by ¥ 30,000 and crediting Ria’s
account by ¥ 30,000.

(b)  Debiting Ria’s account by ¥ 30,000 and crediting Surbhi’s
account by ¥ 30,000.

(c) Debiting Surbhi’s account by ¥ 3,000 and crediting Ria’s
account by ¥ 3,000.

(d)  Debiting Ria’s account by I 3,000 and crediting Surbhi’s
account by ¥ 3,000.

OR

Naman, Suman and Mohit were partners in a firm sharing profits
in the ratio 8 : 5 : 3. With effect from 15t April, 2022, they decided
that in future, they will share the profits in the ratio 5 : 6 : 5.
Identify the gain or sacrifice by the partners due to change in

profit sharing ratio, from the following :
(a) Naman’s gain 3 , Suman’s sacrifice 1 , Mohit’s sacrifice 2
16 16 16
(b)  Naman’s sacrifice 3 Suman’s gain L Mohit’s gain 2
16 Sl 16 SN 16
) . 3 s e 2 s .1
(c) Naman’s sacrifice —, Suman’s gain — , Mohit’s gain —
16 16 16
2 e 3 9 . 2 R} . ].
(d) Naman’s gain 16’ Suman’s sacrifice 16’ Mohit’s sacrifice 16
-~~~ Page 13 P.
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15.

16.

17.

67/4/2

far, T qun e AEER 9 AT 4 : 3 : 2% AU § Y died & | BH &
qted W faT qer T YA 39 Wi H | % 9T e i <d 7 | e, T

qen e 1 9 Ar9-fawTsH s1gdTa B

(a) 3:4:2

b)) 2

(c) 4.
3

4
03
(d) 4

DN DN W

T BH h ©ATfd <l TUET fUsd =R aul o SNEd AW o 9 96l o HA b
YR Wl T8 | 31 9= ! GTH gY st =m awf o o o

o /7 (%)
2018 — 19 (14,500)
2019 — 20 15,400
2020 — 21 32,900
2021 — 22 16,800

®H T TR T oI BT

(a) < 8,885

(b) ¥ 37,950

(¢ T 58,950

d ¥ 20,690

fifa qen stfefa v wH i AR off qum 2 : 3% UM | TAIH-FIH I TTH=H
et off | SRR w3 it & 5 % for i A wwe § e e <
39+ fifd o sAfefa ¥ sUst-UsR stfmifed foham | S 39 IS % &9 A
T 5,00,000 q1 T HiftRm % ®9 § T 1,00,000 @R1 | QU HEER g
@Tﬁ%%WWWW%ﬂTWI

®H I JEIhl H T e o foTq 3TEwesh Tsqman Sfafseat $ifve |
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15. Niva, Naman and Nityam were partners sharing profits in the ratio of
4 : 3 : 2. Niva and Naman each give — from their share to Nityam on
reconstitution of the firm. The new profit sharing ratio among Niva,

Naman and Nityam will be : 1
(a) 3:4:2
(b) 2:3:4
(c) 4:2:3
d 3:2:4

16. The goodwill of a firm was valued on the basis of 3 years purchase of
average profits for the last four years. The profits of last four years
ending 315t March were as follows :

Year Profit/Loss (3)
2018-19 (14,500)
2019 - 20 15,400
2020 - 21 32,900
2021 — 22 16,800
The value of goodwill of the firm was : 1
(a) T 8,885
(b) % 37,950
(c) T 58,950
(d < 20,690

17. Niti and Aditi were partners in a firm sharing profits and losses in the
ratio of 2 : 3. They admitted John into partnership for ith share in the
profits of the firm, which he acquired equally from Niti and Aditi. John
brought ¥ 5,00,000 as his capital and ¥ 1,00,000 as premium for
goodwill. One-fourth of the goodwill was withdrawn by the old partners.
Pass necessary journal entries for the above transactions in the books of

the firm. 3
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19.
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(%)

1 30, 2021 +i fgaw fafes 3 uoa e it = 8,00,000 i
giEafaai dem < 40,000 H <A 1 ftmEw ¥ 8,30,000 %
oI W fopan | 5w fafies 3 ooiat ffide &l Yam 4 TR 9
fopa

(i) T 2,00,000 I Th TR gL AT G ATE 9T I off, qe

(i) o fAMEE Sl AT BT oI H PTAE T 100 T&H b 10%
RO Bl 10% o R Fifad swteh foham |

3R Al W fgdw fafieg i gl # w@l & % faw maves
U= wfafsear it |

AAAT

foam fafide 9 £ 100 J&% % 500 WM &I = 10% Hm ®
frifaa fomam o o qem o w = 90 ufa ot wit W A, T 30 ufq W
arreieq (fifiem |fgd) aem = 20 Ufd 3191 YoM AT=HT 1 PTAE 7 HH W
O L Tt | 90 | 300 37901 I T 80 Wfd 379 Ui g gA:frifHa e
foam |

3791 < B0 AT AT SRl sraee Tt gfafeeat hife |

HifehT, WfHeRT AT AT HATHGR & AT 6 : 4 : 1 TJI1d § ATH
Sied! & | hHICIeT I AT § 3Tq4 HW % fIT T 3,00,000 HT =[HdH
Ty it TS W R |31 HIE, 2022 FH THHE FC a9 F BH R
T 22,00,000 T g AT g |

31 ®T=, 2022 ! THTH FL Y  [Q BH 1 AH-H faf=aem @
LRUSCAIE L

AL
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18. (a) On 1St April, 2021, Hitesh Ltd. took over assets of ¥ 8,00,000 and
liabilities of ¥ 40,000 of Pranjal Ltd. at an agreed value of
T 8,30,000. Hitesh Ltd. paid the amount to Pranjal Ltd. as

follows :

(i) Gave an acceptance payable after 3 months for ¥ 2,00,000,
and

(i)  Issued 10% Debentures of ¥ 100 each at a discount of 10%
to Pranjal Ltd. in satisfaction of the balance amount of

purchase consideration.

Pass the necessary journal entries to record the above transaction
in the books of Hitesh Ltd. 3

OR

(b)  Disha Ltd. forfeited 500 shares of ¥ 100 each issued at 10%
premium, T 90 called up, on which the shareholders did not pay
T 30 per share on allotment (including premium) and first call of
T 20 per share. Out of these, 300 shares were reissued for ¥ 80
per share, fully paid up.

Pass necessary journal entries for forfeiture and reissue of shares. 3

19. (a) Monika, Bhoomika and Kamolika are partners sharing profits in
the ratio of 6 : 4 : 1. Kamolika is guaranteed a minimum amount of
T 3,00,000 as her share in profits. The firm earned a net profit of
T 22,00,000 for the year ended 315t March 2022.
Prepare Profit and Loss Appropriation Account of the firm for the
year ended 315t March, 2022. 3

OR

67/4/2 ~~~ Page 17 P.T.O.
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67/4/2

(@) o=, 9t qon =gt T BH H areer off qur IR IS e
T 3,00,000, T 2,00,000 AT T 1,00,000 |
IS T@ & TEuHl h SFER
(i) =T qAT FleAt ¥k T 1,500 HIfEeh 9 bl gehel o |
(i) W& T 4,000 TS Ia hl FeheR off |

S0 THRISE] i TRy foMT 31 AT, 2022 %I HHH FW Y & AW
T 80,000 % HIEERT % ¥ Ieh Y-a9SH UM 3: 3 : 2 | §le
feam m |

ST I B U B o fOC BH HI Tl § AE9TH UMl
gfafse Hifsre | oot et fewaforn 61 Tose w9 @ gifzw |

TS, & T ¢ T BH H TSR 9 91 2:2: 1 o UG H Y- 1
fauem &t 9 | 3T ISt A T 6,00,000, T 4,00,000 T T 2,00,000
off | Treiert gorg § fafafad =1 graume o

(%) 8% arfieh T & YSft W = |
(@) 6% A & ATE W |
(1) =l GTEER g fCU T 0T W 5% TN X ¥ N |

Y % CRE TS 4 1 3SR, 2021 I T 12,000 T 10T fha1 i Tgsh 4
1 femrsw, 2021 1 T 60,000 T 3TET TRt |

1 SHadl, 2021 i feean 3 w1 1 T 1,20,000 1 k0T T |

31 HTE, 2022 1 GHE Y 9N (¢ FEA{AREd el 6l wH H g&iehi §
I U= gfafseat shifs -

i) T H I W AN YgH & o T |

(i) & o SME T ST YHTNA A o AT |

(iii) feeam gro wH A1 feu U ot T = Ye| i % e |

gy & A9 Ud B @/t g e a4, S R =afa e,
ATl gfafsear i |
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67/4/2

(b)  Ananya, Bhavi and Chandni were partners in a firm with capitals
of ¥ 3,00,000, T 2,00,000 and T 1,00,000 respectively.

According to the provisions of the partnership deed :

(1) Ananya and Chandni were each entitled to a monthly salary
of T 1,500.

(ii)  Bhavi was entitled to a salary of ¥ 4,000 per annum.

The profit for the year ended 315t March, 2022, ¥ 80,000 was
divided between the partners in their profit sharing ratio of 3: 3 : 2

without providing for the above adjustments.

Pass the necessary adjustment entry to rectify the above omissions

in the books of the firm. Show your working notes clearly.

Raj, Mehak and Divya were partners in a firm sharing profits and losses
in the ratio of 2 : 2 : 1. Their respective capitals were : ¥ 6,00,000,
T 4,00,000 and ¥ 2,00,000. The partnership deed provided for the
following :

(a) Interest on capital @ 8% per annum.

(b)  Interest on drawings @ 6% per annum.

(c) Interest on partner’s loan to the firm @ 5% per annum.

During the year, Raj had withdrawn ¥ 12,000 on 15t October, 2021, while
Mehak withdrew ¥ 60,000 on 15t December, 2021.

On 15t January, 2021, Divya had given a loan of ¥ 1,20,000 to the firm.

Pass the necessary journal entries in the books of the firm for the
following transactions for the year ended 315t March, 2022 :

(i) Allowing interest on Raj’s capital.
(i1))  Charging interest on Mehak’s drawings.
(iii)  Providing interest on loan given to the firm by Divya.

Also pass transfer entries in the Profit and Loss Account/Profit and Loss

Appropriation Account, as the case may be.
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22.

67/4/2

FTR TS 1 T 10 TIH & FHAT 30 § F9®w T 20,00,000 i Afhd
gt off | ®E 9 60,000 I % A % U steEd W@ fRu |
58,000 3731 % fTT 3TEEA 9= UMW 7 |

guft JreATE [ Sl TS qAr 2,000 M W T 3 Ul I <kl AfH AT B
gt axft ITH B T | 37 37 1 g e o e

HAt AfufEm, 2013 H FAET I, AW I 3 JJIR W Yol Sl U &
feufa faawor o gz | st & fou @i & e’ ff d9m Hifw |

JehTST, SIS AT TIehd Teh SIGETT o TSGR o QAT 2: 2 : 1 o 34 H
AT ! Sied o | 31 °E, 2022 i 3T fedfa feawor =1 g o

31 |, 2022 1 TR, ATRTI AT fererta o1 feufa ferawom

- rrST . rrST
SRR 2.,00,000 | §h 40,000
= 9= 1,00,000 | Th 60,000
il LA 1,60,000
FEIN 1,20,000 IEER 1,40,000
AR 2,00,000 i 70,000
IEEIL 80,000 4,00,000 | Y& 2.30,000
7,00,000 7,00,000

30 faaesr, 2022 I fohE 61 Tog 31 T8 | Th HIEIGR 1 Jog W HEeR! 0@
H = 1 WraY™ o

(1) g I Tdly G Faeh HISIGR &I ATH H 3T W &kl M1, e
I & ATH % LR T I AT |

(i) ®H 6l ©Ifd § 3T 9T FrEehl AT fUge 9R awl o 3iEd Y &+
T At o ST o YR T Y St |
31 TTd ! TUTH fUsd 9w a¥i & oy = 9eR o ¢
2018 - 19, ¥ 1,60,000; 2019 — 20, ¥ 1,00,000; 2020 — 21, T 80,000
qaar 2021 - 22, T 60,000.
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21. Sunstar Ltd. has an authorised capital of ¥ 20,00,000 divided into equity
shares of ¥ 10 each. The company invited applications for issuing 60,000
shares. Applications were received for 58,000 shares.

All calls were made and were duly received except the final call of ¥ 3
per share on 2,000 shares. These shares were forfeited.

Present the ‘Share Capital’ in the Balance Sheet of the Company as per
Schedule III, Part I of the Companies Act, 2013. Also prepare ‘Notes to
Accounts’ for the same. 4

22. Prakash, Aakash and Vikas were partners in a business sharing profits
in the ratio of 2 : 2 : 1. Their Balance Sheet as at 315 March, 2022 was as
follows:

Balance Sheet of Prakash, Aakash and Vikas as at 315t March, 2022

Liabilities AmOUnt |\ cets Amount
Creditors 2,00,000 | Bank 40,000
General Reserve 1,00,000 | Stock 60,000
Debtors 1,60,000
Capitals : Investments 1,40,000
Prakash 1,20,000 Furniture 70,000
Aakash 2,00,000 Building 2,30,000
Vikas 80,000 | 4,00,000
7,00,000 7,00,000

Vikas died on 30th September, 2022. On the death of a partner the
partnership deed provided for the following :

(i)  Deceased partner will be entitled to his share of profit up to the
date of death calculated on the basis of previous year’s profit.

(i1) His share in the Goodwill of the firm, calculated on the basis of
3 years purchase of average profits of last four years. Profits for

last four years ended 315t March were as follows :

2018 — 19, T 1,60,000; 2019 — 20, T 1,00,000; 2020 — 21, T 80,000
and 2021 — 22, ¥ 60,000.

67/4/2 ~~~~
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23.

24.

67/4/2

(iii)

(iv)

g oh! ffr Tk Taeh |TEIGR &1 & T 20,000 o7 |
ISt X AT 12% aTNeh o0 | Team Se |

forpra & ITUeeRIiE ot Tegd i o foe faspa &1 deft @mar dar Hifv |

frfaRaa aideafaal 4 3o fafide i g&iehl H 12% RO9AT % FFET 6

9IS UsHTH= gfafsear i -

1)

(i1)

(iii)

T 100 ¥ & 1,000, 12% RO 1 009 10% S 9 fhan
Rert w89 Wifiem W foman ST 2 |

Z 100 T¥% & 4,000, 12% OGS o1 FE 5% Hiftem @ foman =
Rert iem 10% Mftem = fomen ST 2 |

F 100 9% & 5,000, 12% O Rl 8 109% Hfeem @ fomam m
SehT S e R foRan ST 7 |

hTfdeh qT HUT shl BH o faeed R foafie gimmataa (T & sifdafics) qen
Rl AT HI TS @Id H TR o U9ENq HfIRgd oiHeAl o foTg

A9 U= gfafser Hifsu -

1)

(i1)

(iii)

(iv)

(v)

(vi)

SHifieh 4 BH I T 12,000 1 x0T Rrmep fafiaa ymam &t fen

|
foraea & fafy w av=fa @@ & am 9 8§ T 15,000 1 A o |

eI H, e BH W T 24,000 SMT 9, U f9eH § T 23,000 61
ik TlehR & o= |

T WA I EHT T@r BH H GEdeh H @ foRAT TR o1, W A
T 31,000 H o foram |

FIfcieh T4 WS & T 16,000 o RO 1 YA B o (¢ TgH B
T |

F 60,000 o BT hl 10% A9 T o= &3 = |

~ N~ Page 22

4



23.

24.

67/4/2

(iii) Drawings of the deceased partner up to the date of death were
T 20,000.

(iv) Interest on capital was allowed @ 12% per annum.

Prepare Vikas’s Capital account to be rendered to his executors.

Pass necessary journal entries for issue of 12% Debentures in the books
of Hemant Ltd. in the following cases :

(i) Issued 1,000, 12% Debentures of T 100 each at a discount of 10%,
redeemable at a premium of 8%.

(ii)  Issued 4,000, 12% Debentures of ¥ 100 each at a premium of 5%,
redeemable at a premium of 10%.

(iii) Issued 5,000, 12% Debentures of ¥ 100 each at a premium of 10%,
redeemable at par.

Pass the necessary journal entries for the following transactions on
dissolution of the firm of Kartik and Karan after various assets (other
than cash) and outside liabilities have been transferred to Realisation
Account :

(1) Kartik had given a loan of ¥ 12,000 to the firm which was duly
paid.

(ii)  Profit and Loss Account was showing a debit balance of ¥ 15,000
on the date of dissolution.

(iii) Creditors to whom the firm owed I 24,000 accepted stock of
T 23,000 in full settlement.

(iv) A machine which was not recorded in the books of the firm was
taken over by Karan at ¥ 31,000.

(v)  Kartik agreed to pay his brother’s loan of ¥ 16,000.

(vi)  Furniture of ¥ 60,000 was sold at a profit of 10%.
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()

9 fafieg 94 T 10 9% & 50,000 THAT 3T H 10% HEREE W
fiftra st & fo7T strega omwfa fohe | Uit &1 am = sohR & &
q1

AT W T 3 Ul A; Aeed W (Nftrem wfza) T 3 afa 31w aun gem
Tg Af=m AT W AN A

1,20,000 3N % AT TG TTH Y | ST 1 36 IITITH LR
W Al SAEghl W W @ T | eaed W o sifafce it @
UTISH 3TEeH W ¢ TR L e = | STreied W < 37ded Uiy 9
At TR 999 T & T | Tk IWUWH (84 6,000 M & foiw
e foham o, WUg Ug SAf~m AT TR 1 YIAH T L Hebl el
3Gk T T FOT HL o/l T | T RT T 3T H T 60,000 O
vea qA:FitHa s T e |

3T TG oh T 991 fAfTde <t qedehl § 3TEweeh s Sfafseat

HT |

AL

9 fafide 4 T 10 =% % 5,00,000 THAT ST 1 10% SifEd
fiftg e o fofu s gEies I fomem | Tfsr w1 ymae =1 seer @
ézf q7

A W T 3 Ul 7, 3meed W (Hiftw wfgq) < 5 ufa 1w aon gem
g Af=qm Tr=AT W T 3 fd 37 |

6,00,000 3T % Y 3AeGd 6 Y a1 Hft TEgehi I STUTII
IMYR G e o fean T | e W yH Afdfes g=ufy =
AT 3Teed W < Rt | L fear mn | aft < ufsr i & e,
had gt @ 3Afdafh, St 1,000 3TN 6T 9 o1, q9T A& 9 g9y
Tg 3 AT BT PTAHE HH B B W@ | 3Hb M T &0 L
form = |

aorar fafies i geasi H ST TFeAl o T STTawesh UsHml

gfafseat SHifu | I T 3Tavaes 81 3fed I=HT @rdl @it |
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25. (a) Yash Ltd. invited applications for 50,000 equity shares of ¥10 each
at a premium of 10%. The amount was payable as follows :
On application ¥ 3 per share; on allotment (including premium)
T 3 per share and on first and final call, the balance amount.
Applications were received for 1,20,000 shares and shares were
allotted on pro-rata basis to all applicants. The excess money
received on application was to be adjusted towards sums due on
allotment. Application money in excess of sums due on allotment
was refunded. A shareholder who applied for 6,000 shares could
not pay the first and final call money and his shares were forfeited.
The forfeited shares were reissued for ¥ 60,000 fully paid up.

Pass necessary journal entries for the above transactions in the
books of Yash Ltd. 6

OR

(b) Ajanta Ltd. issued a prospectus inviting applications for issuing
5,00,000 equity shares of ¥ 10 each issued at a premium of 10%.

The amount was payable as follows :

On application — ¥ 3 per share

On allotment (including premium) — ¥ 5 per share
On first and final call — ¥ 3 per share

Applications were received for 6,00,000 shares and pro-rata
allotment was made to all applicants. Excess money received on
application was adjusted towards sums due on allotment. All
amounts were duly received except from Sumit, who was the
holder of 1,000 shares, and failed to pay the allotment and first

and final call. His shares were forfeited.

Pass journal entries for the above transactions in the books of

Ajanta Ltd. Open calls-in-arrears account wherever necessary. 6
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(%) oW qo1 B9 Th BH hI ATeGR off T 5 : 3 o I H ATH-ZIH Siedt
off | 1 310, 2022 &l 384 Afefd I Teh TR ST | 39 fafyr =i
3eht fedfa foaeor = yeem o
1 318, 2022 i YW qUT ST o7 fearfa e

S i et qfyr
T T
g EENIEEq] 3,80,000
qfH 3,20,000 HrATa 50,000
Sfa 3,40,000
6,60,000 | <aR 2,30,000
= g9 80,000 | ¥ih 150,000
Seh T 60,000 | Ths 50,000
TER 60,000
8,60,000 8,60,000

aﬁ&rﬁﬁmﬁf@ﬁmﬁmwﬁﬁ%m%ﬁmmﬁﬁmﬁmw:
() AR T 3,00,000 79 S % €9 § AT |

Gi) orfefa wnfa dfiftem &1 st v e At | w1 <k ==t
AT TUSal i a9l o 19 T o & au1 < 3 oh TR T
Toram T | fuse 9 9wt 1 3TEa @Y T 60,000 9T |

(iii)  FAR T QTR T 4,60,000 Toham =T |

Gv) ufir qen sfa F G 1 gareH =T @ e stfefa 3ot
& YR 9 foRam T |

e RICERCICHE R IE P CIRCIN S RINC I 1

AAAT
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(a) Bhumi and Chavi were partners in a firm sharing profits and

losses in the ratio of 5 : 3. They admitted Aditi in the firm on

15t April, 2022. On that date their Balance Sheet was as follows :

Balance Sheet of Bhumi and Chavi as at 15t April, 2022

A t A t
Liabilities T | Assets e
Capitals : Machinery 3,80,000
Bhumi 3,20,000 Furniture 50,000
Chavl 37407000 6,60,000 Debtors 2,30,000
General Reserve 80,000 | Stock 1,50,000
Bank loan 60,000 | Cash 50,000
Creditors 60,000
8,60,000 8,60,000

Aditi was admitted in the firm with % share in profits on the

following terms :

(1) Aditi will bring ¥ 3,00,000 as her capital.

(ii)  Aditi will bring her share of goodwill premium in cash.

Goodwill of the firm was valued on the basis of two years

purchase of average profits of the last three years. Average

profits of the last three years were ¥ 60,000.

(iii) Machinery was revalued at ¥ 4,60,000.

(iv) The capitals of Bhumi and Chavi were adjusted on the basis

of Aditi’s capital by opening current accounts.

Prepare Revaluation Account and Partners’ Capital Accounts.

OR

a2 2o 2o 4
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(@) A, o1 qen E1 wrEeR off 9uT 5 3 : 2 W AU H ATH-EIH e
off | 31 AT, 2022 sl a1 fefd faeor =1 yer o .

31 W=, 2022 1 TAT, A1 qor =T 1 feufa feemo

'E\ % TFST q_ﬁrg_j:qﬁ_q_lﬁ TrS[
IGEALS 66,000 | HI=R 1,12,000
g foa 59,000 | ¥ieh 1,77,000
%h e 2,80,000
2,00,000 e W
w200, ¥ T w@gE 7,000 | 2,73,000
91 2,00,000 e 63,000
a1 1,00,000 | 5,00,000
6,25,000 6,25,000

39 fafer =1 w1 frefefea st | dar+ga g T

(i)  ®H I AN T e T 60,000 TohaT 721 o1 THT & @AM
YT 1 WY W & St @rdl & HiewH d et e
0|

(i) =R W T 10,000 HeISE T T |
(iii) TAT I SET 9T AT G A T g ok HIEAH F A 39
TehR TR ST 8 Toh 3R it 39k AT &mH fawee agema 1: 1
T 8 ST |
QAT QAT T |ISIGRT o Yeil Wi qar hIfT |
L IRRC)
faeew - 1
(Terhtar feraont <1 fargerwor)
27. () T=Afafga 9§ @ e qiomm g varg g 2
(a) S ¥ T 50,000 T T &
(b) WA % AYfehalstl &l T 2,00,000, 9% TG 1 THA
(¢) oIl § ¥ 30,000 <l wIfHr
(d) d% T T 20,000 % < AT fHhU

AT
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(b) Anna, Bina and Teena were partners sharing profits and losses in
the ratio of 5 : 3 : 2. Their Balance Sheet on 315t March, 2022 was

as follows :

Balance Sheet of Anna, Bina and Teena as at 315t March, 2022

Liabilities AmOunt | 4 csets Amount
Creditors 66,000 | Furniture 1,12,000
Bills Payable 59,000 | Stock 1,77,000
Debtors 2,80,000
Capitals : ﬁiﬁsdéﬁt?mm f(7)f000 2,73,000
Anna 2,00,000 Cash E— 63.000
Bina 2,00,000 ’
Teena  1,00,000 | 2:00,000
6,25,000 6,25,000

On the above date, Anna retired on the following terms :

(1) Goodwill of the firm was valued at ¥ 60,000 and Anna’s share of
goodwill was adjusted through the capital accounts of remaining
partners.

(i1)

(iii)

Furniture was depreciated by ¥ 10,000.

Anna was to be paid through cash brought in by Bina and Teena in
such a way as to make their capitals proportionate to their new
profit sharing ratio of 1 : 1.

Prepare Revaluation and Partners’ Capital Accounts. 6
PART B
OPTION -1
(Analysis of Financial Statements)
27. (1) Which of the following will result in flow of cash ? 1

(a) Cash withdrawn from the bank ¥ 50,000

(b) T 2,00,000, 9% debentures issued to vendors of machinery
(c) T 30,000 received from debtors

(d)  Cheques of T 20,000 deposited in the bank

OR
67/4/2
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(i1)

(1)

(i1)

T 999 & 9§94 H Uhs-qed AHT SIAT 8 hadd avt Sid gaeh
MY Y HH B, 3R ha, i AU i fafyr 4 |
(a) < TEA e feen

(b) B: WEM AT HH

(¢c) Uk IY 3Gl hH

(d) < TEH 31erE wA

Ifg I1e] a9 | TEeH | AW T 10,00,000 7 TAT ThA AT, ARG T
25% &, Al I § TN hl ATd BT

(a) ¥ 2,560,000 (b) ¥ 12,50,000
(c) < 2,00,000 (d ¥ 8,50,000
YT

Ifg 3mA Toftieg &1 JaeH T 60% @, A1 SEehT JdTeH a1y TIITd

BT

(a) 100%
(b) 60%
(¢) 40%
(d) 160%
frefalea o @ SH-a1 eA-9ar 31U 757 8 2

(a)
(b)
(c)
(d)

[EENIE I 210
TSl SATH STTIT

EJTHed AT

Fo YR 9 0T AT

{hg JaTg foerul SHId THY Ueh o<l Ul gRI ‘TTH SIS ohl aifichd ol

QT

(a)
(b)
(c)
(d)

ol nifafarfer & w9 &
T Tfdfafe & &9 9
Trow nfafafar & w0 4
TS Td {hg Jedl % &9 4
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(ii)  An investment normally qualifies as cash equivalent only when it
has a short maturity, of say, from the date of acquisition. 1

(a) Three months or more
(b) Six months or less
(c) One year or less

(d) Three months or less

(i) If revenue from operations is ¥ 10,00,000 and gross profit is 25%

on cost, cost of revenue from operations will be : 1
(a) T 2,50,000 (b) ¥ 12,50,000
(c) < 2,00,000 (d T 8,50,000
OR
(ii)  If the operating ratio of Aman Ltd. is 60%, its operating profit ratio
will be : 1
(a) 100%
(b) 60%
(c) 40%
(d 160%
Which of the following is not a Solvency Ratio ? 1

(a) Return on Investment

(b)  Interest Coverage Ratio
(c) Proprietary Ratio

(d)  Total Assets to Debt Ratio

While preparing Cash Flow Statement, ‘Interest received’ by a finance
company is classified as : 1

(a)  Financing activity
(b)  Operating activity
(c) Investing activity

(d) Cash and cash equivalents
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31. fm=faReq #gi =1 ot arfufrem, 2013 &t FE 101, Wi I & IFER fRafa

foraor < g e qur 3u-3fiehi § aficha hIfT - 3
(i) Teu AWK
) gt H=

(iii) @9 3SR

32. S 31Ul s TUHT SHTE™ GNI el H 0T b hi &0aT i i
ERSICTRE I - 3

(i) 39 H dfdd TIUTdl b TRl TEA-T |

(i) 39 (i) § IEAH T 3Tl o YR o fehedil g 3TUTAI sl THSST |

33. () (%) dars fafids =1 A U 3-5: 1 8 99 T 9 2: 1 7 |
Ify wa ufemfe | o] uiewfaE B ostfusar e
giatTeea ¥eieh (Fwel) AT &, T 48,000 &, A1 ATe] IREF (T

qAT =A1e] SAAHAT T T HIAY | 2+2=4
(@) =9 GHAT ATUTT hi TUFT HITT

AT o hIY - Z 2,00,000

o9 U9 e - T 1,00,000

F T _ < 4,00,000

TS <A - T 1,00,000

arerEt

(ii) T YT I AT AJIE 2: 1 8 | RV Aigd 3g@ hite foh fmfciiaa

AT | ST ST, H 3Tal 395 I3 Uied T8l AT 4

%) T 60,000 h ATA hT TG I

@) T 2,00,000 i TR gfErafEt w1 T w5

M) T 20,000 ! AN % {IA BT T 23,000 H IUR sk
) ¥ 10,00,000 % 370 1 A

(
(
(
]
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31. Classify the following items under major heads and sub-heads (if any) in
the Balance Sheet of a company as per Schedule III, Part I of the
Companies Act, 2013 : 3
(1) Loose Tools
(ii)  Capital Reserve
(iii) Mining Rights

32. ‘These ratios are calculated to determine the ability of the business to
service its debt in the long run.’ 3

(1) Identify the types of ratios discussed above.

(ii))  Explain any two ratios of the types of ratios identified in (i) above

33. (1) (a) Y Ltd. has a Current Ratio of 3-5 : 1 and Quick Ratio of
2:1. If excess of current assets over quick assets
represented by inventory is ¥ 48,000, calculate current
assets and current liabilities. 24+2=4

(b)  Calculate Debt to Equity Ratio :

Shareholder Funds - < 2,00,000

Reserves and Surplus — < 1,00,000

Total Debt — T 4,00,000

Current Liabilities - ¥ 1,00,000
OR

(ii) The Current Ratio of a company is 2 : 1. State giving reasons
which of the following transactions would improve, reduce or not
change the ratio : 4

(a)  Purchase of goods for cash ¥ 60,000

(b)  Purchase of fixed assets for cash ¥ 2,00,000

(c) Sale of goods costing ¥ 20,000 for ¥ 23,000 on credit
(d) Issue of shares ¥ 10,00,000
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7 reuter U 1 gfeu 9 39 YR W feu MU g9 &1 I ST :

WY U a1 ITH B | 1 319, 2019 H 3G 79 I i Hgw qen " &
1Y Th 1 TS Tl | I Hall o AT 1 THHT SFGHE TEH
foRT | IehT SAGHTE Tsh Aol ST 91 | 379 o §gd § 314 o W AT
1 foedrR w1 9Ed o | foiy steRIRdre dl gfd % U 3@ ST

SATIHTRIh TS h1 Jeh deciehl H1gd Tt

faafide 1 4 fopam | 31.3.2022 I

Tee fafies o1 feafa foawo o :
31 W=, 2022 1 #raa fefies =t feafa feaon
F— e | 31.3.2022 | 31.3.2021
9. T T
I — |HAT AT I
1. wares fAfeat
() m q”sﬁ 35,00,000 | 25,00,000
() mﬁ}ﬁm 12,50,000 | 10,00,000
2. 3T AT
(510% WE |3€|)'|'{ 12,50,000 |  3,50,000
3.  wTe] d¥amy
(aq){ai 3“05 aﬁﬁl 'WR) 50,000 75,000
(@) = <@ 2,50,000 |  1,50,000
(1) TRTA T 1 1,50,000 75,000
K3 64,50,000 | 41,50,000
II - ufEraf= .
1 A= aiEr T
Tt gfgrataat
(%) gd FiEEafaat 2 40,00,000 | 22,50,000
() ?gﬁﬁ) : 3,50,000 |  5,00,000
2 6] It
(%) 3a=l (W) 6,25,000 |  5,00,000
(@) a1 91 12,50,000 |  7,50,000
(1) TUhg TE Tehg qd 2,25,000 |  1,50,000
£y 64,50,000 | 41,50,000

a2 2o 2o 4
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Read the following hypothetical text and answer the given question on
this basis :

Madhav is a young entrepreneur. On 15t April, 2019, he formed a
partnership firm with two of his friends, Mohan and Sohan. They started
their business of exporting dry fruits. Their business was a successful
business. Now they wanted to expand the business in many other
countries. For meeting the financial requirements, they changed the form
of business organisation and formed Madhav Ltd. The Balance Sheet of

Madhav Ltd. as at 31.3.2022 was as follows :
Balance Sheet of Madhav Ltd. as at 315t March, 2022

Page 35

Particul Note | 31.3.2022 | 31.3.2021
articulars No. > =
I - Equity and Liabilities :
1. Shareholders’ Funds
(a) Share Capital 35,00,000 | 25,00,000
(b) Reserves and Surplus
(Statement of P & L) 12,50,000 | 10,00,000
2. Non-Current Liabilities
Long-term Borrowings
(10% Debentures) 12,50,000 3,50,000
3. Current Liabilities
(a) Short-term Borrowings
(Bank Overdraft) 50,000 75,000
(b) Trade Payables 2,50,000 1,50,000
(c) Short-term Provisions 1 1,50,000 75,000
Total 64,50,000 | 41,50,000
II - Assets :
1. Non-Current Assets
Fixed Assets
(a) Tangible Assets 2 40,00,000 | 22,50,000
(b) Intangible Assets
(Goodwill) 3,50,000 5,00,000
2. Current Assets
(a) Inventories 6,25,000 5,00,000
(b) Trade Receivables 12,50,000 7,50,000
(c) Cash and Cash
Equivalents 2,25,000 1,50,000
Total 64,50,000 | 41,50,000
N N N
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@rdi o qeH :

<

.. 31.3.2022 | 31.3.2021
.| Tora RN RN
q.
-
1 | CTYeRTA T
EXRICLIE] 1,50,000 75,000
2 | 9 Uit
T3 U9 wRid 44,00,000 | 25,00,000
2T Thiod odgT (4,00,000) | (2,50,000)
40,00,000 |  22,50,000

STIARE GT -

i) @9 % NE T 1,25,000 AT H Th WG 8 W wwha goasE
F 50,000 T, T fasha T 45,000 ¥ fomam T |

(i) O W T 1,25,000 AT T YA foham 7= |

I § TS I o YR W mEd fafade St Trem wfafafeei’ qen focfa

At & Uehg JaTE <hl TUMT Shifold |

I @
faereu - 11
(erfireRfers SaTeT)
(i) iRl 6 GRean adn qaneHl & garay U o folt SIaEm
(a)  had Afhd ATM Afid L hl IS HLdl 7 |
(b)  3ATdieh =1 T@dr g |

(c) had HEl TG i@ WA i AT L 3 |
(d) haw gigrafEn 1 g @ 2 |

AAAT
(i)  TE ###H# TR TSR BId B
(a) & Torel W& &l I G 9T foRaT ST B |
(b) & Hed Iqsy @ gl |
(¢ 9 hicW 9919 ¥4 & foeqa 78 2 |
(d) & g3 39eTed T 7 |
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Notes to Accounts :

Note 31.3.2022 | 31.3.2021
No. Particulars Amount Amount
< <
1 Short term Provisions
Provision for Tax 1,50,000 75,000
2 Tangible Assets
Plant and Machinery 44,00,000 | 25,00,000
Less Accumulated Depreciation (4,00,000) | (2,50,000)

40,00,000 | 22,50,000

Additional Information :

(1)

(ii)

A part of the machine costing ¥ 1,25,000 accumulated depreciation
thereon being ¥ 50,000 was sold for 45,000 during the year.

Interest of T 1,25,000 was paid on Debentures.

Calculate cash flows from ‘Investing activities’ and ‘Financing activities’

of Madhav Ltd. from the information provided above.
PART B
OPTION -11
(Computerised Accounting )

(1) To safeguard assets and optimise the use of resources, a business 1

(a)  Only tries to earn maximum revenue.

(b)  Keeps internal controls.

(c) Only ensures accurate accounting records.

(d)  Only safeguards assets.

OR

(ii)  Correct ##### error appears : 1

(a)  When a number is divided by zero.
(b)  When value is not available.
(c) When column is not wide enough.

(d) When formula is not available.
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Correct #DIV/0! R wefdid gt 8 94

(a)  <hICTH JTAIIHATTHN el & 7 |
(b)  EEA ! A F WA foham Sran & |

(c) Hod 3UcTed &l Bral |
(d)  (a) 7> (c) THI
(i)  ReSg DT (HIfSHIHIH) HI IR 7 :

(a) Wi HIg s & fow
(b) <2 UHRM % g
(¢) W@, gfdaed, 3eanfe gifera & & forg
(d) ST T WA IihA0T 9T TGl o T W@ & U
HAAAT
(i) Gl Y&l H IUR 3 o [T UTEehi g o T shal T &Il & ?
(a) 9T @Td TS
(b) A (W) QIdTeE]

(¢c) U QId 39-Qrdrsal

CARREE R RUSEILE]
frafafaa 8 9 - sAfvesfos @i yore 6 v fomwar 787 2 2

(a) O Td Tehihd

(b) W& qUT Tl
(c)  3TTehg 3Th&Tul <hl AT Tal
@  fovagaan

fopegl <M el W AT |fFea™ adl STEY Aifea (ST HFa) |

I T2 HIY |

T AR, We-2feE aRe aul PeR-fewEe asa i FA1 A 7 ?

AR IcTT TGTehd TNt o foheal i AT AT Ush HHT bl 3IgE hifwT |
AT

Qa1 9 ATH-gTH % fohegl @R Sfivehi sl A@=TST |

foregl Q1 STaMT % AT RO W HA A 1 FcAIT DA dTel [oid > I

T FATST qA 36 HHATST |
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Correct #DIV/0! Error appears when
(a)  column is not wide enough.
(b)  number is divided by zero.

(c) value is not available.

(d)  (a)and (c) both

1) The need of codification is for :
(a)  Generation of mnemonic codes.
(b)  The encryption of data
(c) Securing the accounts, reports, etc.
(d) Easy processing of data and keeping proper records
OR
(ii)  Where are the amounts owed by customers for credit purchases
found in books of accounts ?
(a)  Accounts Receivable Journal
(b)  General Ledger
(c) Accounts Receivable Subsidiary Ledger
(d)  Sales Journal

Which of the following is not a feature of Computerised Accounting
System ?

(a) Simple and Integrated

(b)  Accurate and Speed

(c) Data audit not required

(d)  Reliability

Differentiate between ‘Generic Software’ and ‘Tailored Software’ on any
three basis.

What is meant by ‘Memo Voucher’, ‘Post-dated Voucher’ and
‘User-defined voucher’ ?

State any three advantages and any one limitation of Computerised
Accounting System.

OR

Explain any four heads from the account group ‘Profit and Loss’.

Name and explain the financial function which will be used to verify the
total interest on a loan between any two periods.
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